Intersection: Portage/Hansen at E1 Camino Real, Palo Alto, California

MapData payload size 892

payload=00128378280B3019000003F100A5F9750D913E8050882D012C0288BC68B0045000000640021B4074D64A4BADE
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= {
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1009
by
revision 0,
refPoint {
lat 374210843,
long -1221382494,
elevation 90
by
lanewWidth 300,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =767,
y 2667
}
by
{

delta node-XY5 : {
x 2350,



y 3566
}
by
{
delta node-XY5 : {
x 3302,
y 4972
}
by
{
delta node-XY5 : {
x 3624,
y 5557
}
}
by
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverLeftAllowed}
by
signalGroup 4
by
{
connectingLane {
lane 13,
maneuver {maneuverLeftAllowed}
by
signalGroup 4
by
{
connectingLane {
lane 19,
maneuver {maneuverRightAllowed}
by
signalGroup 4
}

lanelID 2,

egressApproach 2,

laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},

nodelList nodes : {
{
delta node-XY4 : {
x =420,
y 2436
}
by
{
delta node-XY5 : {
x 2346,
y 3733
}
by
{
delta node-XY5 : {
x 3316,
y 4925
}
by
{



delta node-XY5 : {
x 3569,
y 5457

lanelID 3,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 3485,
y -1089
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 50
}
by
{

delta node-XY4 : {
x 3061,
y —2021
}
by
{

delta node-XY5 : {
x 4262,
y —2814
}
by
{

delta node-XY5 : {
x 4338,
y —-2798
}
}
I
connectsTo {
{
connectingLane {
lane 2,
maneuver {maneuverRightAllowed}
b
signalGroup 6
b
{

connectingLane {
lane 19,
maneuver {maneuverStraightAllowed}

by
signalGroup 6



lanelD 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 3300,
y -1372
}
by
{

delta node-XY4 : {
x 3165,
y —2079
}
by
{

delta node-XY5 : {
x 4148,
y —2822
}
by
{

delta node-XY5 : {
x 4318,
y =2790
}
}
b
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}
}
by
{
lanelID 5,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 3088,
y —-1697
}
by
{

delta node-XY4 : {
x 3198,
y —2069
}
by
{



delta node-XY5 : {
x 4093,
y =2712
}
by
{

delta node-XY4 : {
x 2725,
y —-1828
}
by
{

delta node-XY3 : {
x 1662,
y -1068
}
}
b
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
by
{

connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}

lanelID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 2882,
y -1979
}
by
{

delta node-XY4 : {
x 3349,
y -2159
}
by
{

delta node-XY5 : {
x 5909,
y —-3959
}
by
{

delta node-XY2 : {
x 964,
y —-209

}

by



connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverUTurnAllowed}
by
signalGroup 1
by
{
connectingLane {
lane 14,
maneuver {maneuverLeftAllowed}

b
signalGroup 1

lanelID 7,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY5 : {
x 2207,
y —-3913
by
attributes {
dwidth 10
}
by
{

delta node-XY2 : {
x 918,
y —-134
}
b
{
delta node-XY4 : {
x 2376,
y -1110
}
}
I
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 8,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {

{



delta node-XY4 : {
x 2215,
y —-3003
}
by
{

delta node-XY4 : {
x 3286,
y —2154
}
by
{

delta node-XY5 : {
x 4332,
y -2919
}
by
{

delta node-XY5 : {
x 4193,
y —2762
}
}
b
connectsTo {
{
connectinglane {
lane 13,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1010

laneID 9,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2416,
y =2721
}
by
{

delta node-XY4 : {
x 3247,
y —2147
}
by
{

delta node-XY5 : {
x 4220,
y —2804
}
by
{

delta node-XY5 : {
x 4276,
y —2827



}
I
connectsTo {
{
connectinglane {
lane 14,
maneuver {maneuverStraightAllowed}
bo
remoteIntersection {
region O,
id 1010

laneID 10,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2559,
y —2425
}
by
{

delta node-XY4 : {
x 3284,
y —-2163
}
by
{

delta node-XY5 : {
x 4115,
y =2716
}
by
{

delta node-XY5 : {
x 4450,
y —2937
}
}
b
connectsTo {
{
connectinglane {
lane 15,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1010

}

b

{
laneID 11,
ingressApproach 5,

laneAttributes {
directionalUse {ingressPath},



sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY5 : {
x 1853,
y —-3952
Hy
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 671

delta node-XY3 : {
x -1124,
y —-590
}
by
{

delta node-XY3 : {
x -818,
y —-991
}
by
{

delta node-XY4 : {
x -18560,
y —2742
}
by
{

delta node-XY3 : {

x -1141,
y —1342
}
}
by
connectsTo {

{
connectingLane {
lane 7,
maneuver {maneuverRightAllowed}
by
signalGroup 8
}
}
by
{
laneID 12,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1066,



y -3226
by
attributes {
dwidth -60
}
by
{

delta node-XY5 : {
x —-4152,
y —-6391
}
by
{

delta node-XY6 : {
x =-11085,
y —-16855
}
by
{
delta node-XY6 : {
x —-9844,
y —14952
}
}
by
connectsTo {
{
connectingLane {
lane 2,
maneuver {maneuverLeftAllowed}
by
signalGroup 8
by
{

connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {
lane 20,
maneuver {maneuverLeftAllowed}
by
signalGroup 8
}

laneID 13,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =50,
y —-2941
by
attributes {
dwidth 60
}
by
{

delta node-XY2 : {



X 26,
y —-693
}
by
{

delta node-XY3 : {
x =650,
y —-1573
}
}
by
connectsTo {
{
connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 14,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 798,
y —-3045
by
attributes {
dwidth -60
}
by
{

delta node-XY4 : {
x -1472,
y —2162
}
by
{

delta node-XY5 : {
x =-2730,
y —4257
}
by
{

delta node-XY6 : {
x -10171,
y -15311
}
by
{

delta node-XY6 : {

x -10755,
y —16447
}
}
}
by
{
lanelID 15,

ingressApproach 7,
laneAttributes {



directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -3498,
y 759
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 60
}
by
{

delta node-XY5 : {
x —-5940,
y 3907
}
by
{

delta node-XY4 : {
x —-3241,
y 2122
}
by
{

delta node-XY5 : {
x =-3792,
y 2467
}
by
{

delta node-XY4 : {
x -2319,
y 1515
}
}
b
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 13,
maneuver {maneuverRightAllowed}

b
signalGroup 2

}
by
{
lanelID 16,

ingressApproach 7,
laneAttributes {



directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -3374,
y 1064
}
by
{
delta node-XY5 : {
x -5754,
y 3824
}
by
{

delta node-XY4 : {
x -3417,
y 2199
}
by
{

delta node-XY5 : {
x —-3635,
y 2418
}
by
{

delta node-XY4 : {
x —-2480,
y 1643
}
}
b
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
laneID 17,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =-3230,
y 1412
}
by
{

delta node-XY5 : {
x —-6l4o,
y 3993
}
by



delta node-XY4 : {
x =-3027,
y 2018
}
by
{

delta node-XY5 : {
x —-3496,
y 2333
}
by
{

delta node-XY4 : {
x -2613,
y 1680
}
}
b
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 18,
maneuver {maneuverStraightAllowed}

lanelID 18,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -3034,
y 1693
b
attributes {
dWwidth -60
}
by
{

delta node-XY4 : {
x —-2378,
y 1537
}
by
{

delta node-XY4 : {
x -3111,
y 1965
}
by
{

delta node-XY2 : {
x —-853,



y 210

}
by
connectsTo {
{
connectingLane {
lane 2,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{

connectingLane {
lane 21,
maneuver {maneuverUTurnAllowed}

b
signalGroup 5

laneID 19,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-1935,
y 2535
by
attributes {
dwidth 60
}
by
{

delta node-XY5 : {
x -5053,
y 3315
}
by
{

delta node-XY5 : {
x —-4788,
y 3086
}
by
{
delta node-XY4 : {
x -3191,
y 2116
}
by
{

delta node-XY4 : {
x -2541,
y 1755
}
}
by
connectsTo {
{
connectingLane {
lane 7,



maneuver {maneuverStraightAllowed}
by
remoteIntersection {

region O,

id 1008

laneID 20,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-2342,
y 2335
}
by
{

delta node-XY5 : {
x —-4911,
y 3205
}
by
{

delta node-XY5 : {
x -4721,
y 3120
}
by
{

delta node-XY4 : {
x =-3175,
y 2059
}
by
{

delta node-XY4 : {
x -2585,
y 1762
}
}
b
connectsTo {
{
connectinglane {
lane 8,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1008

}

by

{
laneID 21,
egressApproach 8,
laneAttributes {

directionalUse {egressPath},
sharedWith {},



laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -2685,
y 2149
}
by
{

delta node-XY5 : {
x —-4748,
y 3120
}
by
{

delta node-XY5 : {
x —-4843,
y 3111
}
by
{

delta node-XY4 : {
x =-3019,
y 2042
}
by
{
delta node-XY4 : {
x =-2575,
y 1766
}
}
b
connectsTo {
{
connectinglane {
lane 9,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1008
}
by
{

connectingLane {
lane 22,
maneuver {maneuverStraightAllowed}

lanelID 22,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x —-12276,
y 8380
by



attributes {
dwidth -30
}
by
{

delta node-XY2 : {
x =795,
y 134
}
by
{

delta node-XY4 : {
x —-2459,
y 1659
}
}
by
connectsTo {
{
connectingLane {
lane 17,
maneuver {maneuverUTurnAllowed}

}
by
{
laneID 23,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x =-1307,
y 2791
}
by
{

delta node-XY4 : {
x 1887,
y -1189
}
}
I
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverRightAllowed}
b
signalGroup 14
b
{

connectingLane {
lane 26,
maneuver {maneuverLeftAllowed}
by
signalGroup 14
}
}
by
{
lanelID 24,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},



laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
by
nodeList nodes : {
{
delta node-XY4 : ({
x 3693,
y —-559
}
1y
{

delta node-XY3 : {
x -1052,
y —-1522
}
by
{

delta node-XY3 : {
x =936,
y —-1384
}
by
{

delta node-XY2 : {
x 450,
y —-862
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverLeftAllowed}
by
signalGroup 16
by
{

connectingLane {

lane 25,

maneuver {maneuverRightAllowed}
b
signalGroup 16

}
}y
{

laneID 25,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
I
nodeList nodes : {
{
delta node-XY5 : {
x 2155,
y —4327
}
b
{

delta node-XY2 : {
x =450,
y 862
}
by
{

delta node-XY3 : {



x -1326,
y 785
}
by
{

delta node-XY2 : {
x =801,
y —297
}
}
by
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
by
{

connectingLane {

lane 26,

maneuver {maneuverRightAllowed}
b
signalGroup 10

}
by
{
lanelID 26,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x =-3611,
y 182
}
by
{

delta node-XY3 : {
x 756,
y 1703
}
by
{

delta node-XY3 : {
x 1548,
y 906
}
}
I
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverRightAllowed}
b
signalGroup 12
b
{

connectingLane {
lane 25,
maneuver {maneuverLeftAllowed}

b
signalGroup 12



laneID 27,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {}
by
nodeList nodes : {
{
delta node-XY6 : {
x -14412,
y —-25275
}
by
{
delta node-XY3 : {
x 1073,
y —-807
}



